BERKELEY" B2/RM

Cast Iron Impeller
Threaded Case (NPT), Packing Construction

Item Part Part
No. Description Number
1 Case, Volute See Table |
2 Impeller See Table |
6 Shaft (Not sold separately) See Note 2
13 | Ring, Packing (Set of 6 514022
14 | Sleeve, Shaft S05127L
16 Bearing, Ball 513269
17 | Gland, Packing (See Note 1) 504948
18 | Bearing, Ball 513270
19 | Frame H00553
26 | Screw, Impeller 3/8-16x1" 523566
32 | Key, 1/4x2-1/8" S24255
35 | Inner Bearing Cap S19037
37 | Outer Bearing Cap Assembly* S19914
40 Slinger, Water S12260
69 | Washer, Impeller S06314
72 | Ring, Thrust 529218
73 | O-Ring [See Note 3] M14943

BFARING FRAME MOUNT

Section M

Page 401

Date March 4, 2013

Supersedes 07/01/11

Table |

Volute Impeller
B/M No. | Rotation Case Impeller | Diameter
B52170 CW L01026 M01802 9.00"

Item Part Part

No. Description Number
800A | Capscrew, Hex 3/8-16x1" (8 Req.) 526826
800B | Bolt, Sq. Head 3/8-16x2-1/2" (2 Req.) 523762
802 | Nut, Hex 3/8-16 (2 Req.] 523343
805A | Washer, Lock 523036
809 | Ring, Spacer 505822
810 | Plug, Pipe 1/4 NPT (5 Req.] 523715
811 Fitting, Grease 523670
816 | Ring, Retaining (1 Req.) 523010

NOTE 1: A two piece (split] stainless steel packing gland is
available for replacement, order part number B82468.

NOTE 2: Shaft Replacement Kit available for this model.
Berkeley part number B82183. Pump Shaft sold in shaft
replacement kit only.

NOTE 3: Also accepts gasket S05126 as replacement for
0-Ring. See Supplement E located at the beginning of this

* Includes grease fitting and set screw.

D PENTAIR

© 2013 Pentair Ltd. All Rights Reserved.

section.

293 WRIGHT STREET, DELAVAN, WI 53115 WWW.berkeleypumps.COM PH: 888-237-5353 ORDERS FAX: 800-321-8793

Because we are continuously improving our products and services, Pentair reserves the right to change specifications without prior notice.

S4855BK



BERKELEY®' B2/RMS BEARING FRAME MOUNT

Section M
Cast Iron Impeller
) ) Date March 4, 2013
Threaded Case (NPT, Mechanical Seal Construction Supersedes 1T
816 Table |
Volute Impeller
B/M No. | Rotation Case Impeller | Diameter
B68411 CW L01026 M01802 9.00"

Item Part Part
No. Description Number
1 Case, Volute See Table |
2 Impeller See Table | Item Pa_rt_ Part
6 | Shaft (Not sold separately) See Note 1 No. Description Number
14 | Sleeve, Shaft §39242L 800 | Capscrew, Hex 3/8-16x7/8" (8 Req.) 526825
16 | Bearing, Ball 513270 805A | Washer, Lock 523036
18 Bearing, Ball S13271 810 | Plug, Pipe 1/4 NPT (5 Req.) 523715
19 Frame H04007 811 | Fitting, Grease 523670
26 | Screw, Impeller 3/8-16x1" 523566 816 | Ring, Retaining 523009
32 | Key, 1/4x2-1/8" S24255 816 | Ring, Retaining 523010
35 Inner Bearing Cap 519033 o Plug, Pipe 1/2 NPT (Not illustrated) 523717
37 | Outer Bearing Cap Assembly* S19914
40 | Slinger, Water 512260 o Not illustrated.
69 | Washer, Impeller 506314 NOTE 1: Shaft Replacement Kit available for this model.
72 | Ring, Thrust 529218 Berkeley part number B85571. Pump Shaft sold in shaft
73 | O-Ring [See Note 2] M14943 replacement kit only.
89 | Seal, Mechanical Shaft 532690 NOTE 2: Also accepts gasket $05126 as replacement for
0-Ring. See Supplement E located at the beginning of this
* Includes grease fitting and set screw. section.

293 WRIGHT STREET, DELAVAN, WI 53115 WWW.berkeleypumps.COM PH: 888-237-5353 ORDERS FAX: 800-321-8793

’;& PE N I AI R Because we are continuously improving our products and services, Pentair reserves the right to change specifications without prior notice.

© 2013 Pentair Ltd. All Rights Reserved. S4855BK



	FM40-1_20130304_LR
	FM40-2_20130304_LR

